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Derivirg djedete funkcije:
1) f(x) = \/4tgx+ —2/1gx
\/4tgx+ +2,/igx’

xInx—1

xInx+1"

\/x4+

Wﬂz

1) f/(x) (In\/4tgx+ -2 tgx)/
VAtgx+ 1+ 2,/igx

2) f(x)=1In
3) f(x) =

A

2,/tgx)

VAlgX+1-2/fgx VAtgx+1-2/fgx\]’ i (VATgX+1—
VAGX+1+2 tgx VAlgXx+1-2/fgx /| 4tgx+1—
= [In(v4tgx + 1 — 2,/gx)?] = 2[In(\/4tgx + 1 — 2\/igx)]’
2

:m_z\/w_x-(\/mgxqtl—z tgx)’
2

1 1
= : - (4t 1)/ — —— - (tgx)’
VAgX+1—2,/tgx (2\/4tgx+1 (4tgx+1) Vigx (gx))
2 2 1 1 1
T V/Agx+ 1-2/fgx (~/4tgx+1'coszx_ tgx.c052x>
2

B 1 2/tgx — /4tg+1
-~ cos?x | vAgx+1-2,fgx +4tgx+ 1 2,/igx
2

T co®x\/igx(4tgx 1)’
2

2)f,(x):mxlnx—lz :
xInx+1 xm
100 - (0 VELe [ (VL@ T2
B Wﬂz U\ L)
l (\/ﬁ—ﬂ x4) = [In(Vx"+1 )7 = 2lIn(Vx + 1)) =2
SRR 2y - 2 ) =
e R = ot (e ) -

2 23 —2xvx4 + 1 4x X2 — VX8 +1 4x

4tgx

VET1-2 W1 KErl-2 Kl Nt

d





